Cross Math Boxes

These Cross Math boxes are already filled in. Can you fill in the operators,

so that all the equations are true?

5 2l 3|17
2 6 715
8 9 1|18
21 33 22

2 7 8 || 1
3 6 51|13
ol 9 11135
14 2l 12
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= 8 51|17
2 3 91115
6 7 1 {0
12 12 13

8 6 9 1139
1 7 2119
3 : 51 4
11 34 23




Answers

These Cross Math boxes are already filled in. Can you fill in the operators,

so that all the equations are true?

5 4 3 (|17
+ X X
2 6 7105
X + -
8 9 1|18
21 33 22
2 7 8 || 1
+ + -
3 6 5113
X — —
< 9 1 [{35
14 4 12

copyright:  www.mathinenglish.com

= 8 51117
— - -
2 3 9 |15
X + _
6 7 11/0
12 12 13
8 6 9 1139
X + X
1 7 219
- X -
3 4 511 4
11 34 23




